«" Level Numeracy MNU 31la Rig@ur Maths

Outcome 3 - Changing between cm?, millilitres & litres

Bronze examples Silver examples Gold examples

Y Y

Examples... Examples...

Examples...

8ml=8cm? 4cm? =4 ml
(leave itl ) (leave itl)
51=5000 ml |14000 ml= 141
( x 10001) (= 10001 )

161=16000cm?®| 7000 cm?® =7 |
( x 10001) (= 10001 )

0527 ml = 0-527cm?® | 0-45em® = 045 ml
(leave itl) (leave itl)

0-0387 1= 387 ml | 679ml = 00679 |
( x 10001 ) (+ 10001 )

000583 1=583cm® | 723 em® = 07231
(% 10001 ) (+1000!)

0-8ml=0-8cm?*| 0-:04cm? = 0-04ml
(leave itl ) (leave itl )
0-061= 60ml 9ml=0009 |

( x 10001 ) (= 10001)
0-0071= 7em?®| 300cm?®=0-31
( x 10001 ) (= 10001)

A\ LA\ 4
Bronze Questions Silver Questions
LR ap
Change the following units of measurement.. .é/ Change the following units of measurement...
L 5mi=2ml & 6l=2ml ' & O0B5cm®=?ml & 0008I=7?ml
w 31=7cm? & 151=>mnl w 0071=2cm* & 031=2ml
& 241=?2cm®* & 90ml=?cm’ & 000021=?cm® & 006ml=?cm’
Z 8000mi=2>1 8 5000cm® =7 & 8mli=2I 8 30cm®=2I
8 57000mi=21 33 49000cm® =7 &8 600mli=21 33 09cm’=2|
Key Facts/Formulae: =
. Im=1ecm?
Gold Questions =
Q 1litre =1000ml 1 litre = 1000 cm* ';_F

Change the following units of measurement ..

&4

& 0839cm®=?ml & 00236!1=?ml
e 007421=?cm?®* & 09731=?ml

& b261=?2cm?® & 00608ml=?cm?
Z 154ml=21 _g 279cm?® =21
8

998 ml = ? | 8 0652cm?® =2
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Bronze Answers

1 5 ml

3 3000 cm?®
5. 24 000 cm?
7 81

9

57 | 10.

Silver Answers

1. 05 ml
3 70 cm?
5. 02 cm?
7 0-008 |
9

06| 10.

Gold Answers

0-839 ml 2
742 cm? 4.
5260 cm?® 6
0-0154 | 8.
0-998 | 10.

o N g W e

A

A

MNU 311a

6000 ml
15 000 ml
90 ecm?
51

49 |

8 ml

300 ml
006 cm?
003 1
0-0009 |

236 ml
973 ml
0-0608 cm?®
0-00279 |
0-000652 |
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